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an angle measuring 43°, find the measure of its (a) complement and (b) suj
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2..Find the value of x and determine the measure of each angle. (3)
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3. Perform each calculation. (4)

(a) 15°21°09” + 25°18°20” (b) 50° - 27°24°50”
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4. Convert to either Degrees, Minutes, Seconds or Decimal Degrees. (4)
(a) 44.625° (b) 30°40°35”
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7. The terminal side of angle &in standard position passes through the point
(5,°13). Find the values of the six trigonometric functions of angle 0. (8)
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8. Find cos 0 given sin 6 = — é 9. Determine if the equations are possible or imp ‘
0 is in quadrant III. (5) (a) cos 0 =-0.9 M“k k8
b) tan 6 = 25 Pgs\ : o e b
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(c)csc©=-0.5 s\pl\e A

(‘a)csce<0,secv9<“() .00

(b) tan 6 > 0, csc 6 > 0




& " { bbb

0=uie Lan® -

© _ 106 ofle _
e 4@ 24
12. Write each function in terms of its cofunction. “
| a. cos 68° = S\h(qo-b$\ b.csc (0 +40)°= Sec (qo (G ‘

= s (23)) = sec(50-©)
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13. Draw a right triangle with a 45° angle. Find the degree of the missing angle. Also, find the sin,
cosine and tangent ratios of the angle (excluding the 90° angle). (9) b -

14. Draw and find the reference angle for each of the following. (4)




16 Use your calculator to find the approximate value of each expression or equation. (4)

a.sin99.773° &  Q@8|S b.cot50.13° = , B39

c.cos ©6=0.25 J d.sec0=2.46
e=T15.53% B~ b, O\5

17. Calculate F to the nearest 10 pounds for a 5000-Ib car traveling an uphill grade with 6 = 6.2°.
F=wsin® (w = weight in pounds) e

F= (500) sw(62)

Fx B840 e

Solve right triangle ABC, if A = 18°30" and ¢ = 14.2 in. (5)
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20. The length of the shadow of a house that is 50 m tall is 53.02m long. Find the angle of
the sun. (4)

ton © = 5‘5 02 .

S0m ® = tan' (50/539;3
S 0= 43,53\

2 53.02m
21 Draw each of the bearings. (4)

b. 130°




